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NS: 2% ¥R iEEI0) -9 5 NS: #IRZE M#H#EEAC) -9 8.86 11.14| Total VP: 28.32 Rank:
EW: $8{—5k Mh&eREAC) 9 EW: fIRE #mzE(BO) 9 IMP:| 12 15 9
. —
» AQ6 3CXE3 -470 Mean: 5DXW-3 500 11.0 1 [[# 2 s Q42 1NE1-90 Mean: 1NXE-1 100 50 1
v Q84 4HN-3-150 © 4CXE-2 300 7.0 1 v 865 1NE1-90 -80 A 00 2
¢ J3 Dif: -320 NS:-10 4CE-2 100 3.0 1 + K54 Dif: 0 NS:0 1SE1 -80 00 1
& AK932 IMP: -8 EW:4 3CXE-1 100 3.0 1 & AJT8 IMP: 0 EW:0 1NW1 90 00 1
D) A 00 2 ||s AKB3 # J85 1NE1 9 00 3
v A 4HN-3 150  -40 2 ||w AJ42 I v 97 1NW3 150 20 1
¢ 18542 4HXS-2 300 <70 1 ||e T7 + AQ863 1NW4 180 -3.0 1
» QJT8765 3CXE3 -470 100 1 & 97 » 653
# J873 oo VABN o T97
v KJ753 N ~~~~~ v KQT3
¢ Q97 S ~~~~~ ¢ J92
&4 E ~2~21 &KQ2
~2~21
a KJT 4HE4 -620 Mean: 2HES 200 80 1 ||# 4 a J82 4NW4 -630 Mean: A 00 2
v T873 3NW4 -630 -560 A 00 2 v Q9872 5CE6 -620 -630 5CE6 620 0.0 1
+ A96 Dif: 10 NS:-2 3NW3 600 1.0 1 ¢ Q87 Dif: -10 NS:0 4Nw4 630 0.0 1
& 932 IMP: 0 EW:2 3NE3 600 -1.0 1 & T6 IMP: 0 EW:0 3NW4 630 0.0 3
a 93 4HE4 620 -20 2 ||a6 a AKQ74 3NE4 630 0.0 1
v AK542 3NW4 630 -20 3 ||e KJT64 _|_ v5 3NW5 660 -1.0 1
¢ K ¢ AT53 * K9 3NE5 660 -1.0 1
» AQT74 » K95 a AB742
a Q54 oo VAN 4 T953
v J6 N ~~~~~ v A3
+ Q8753 S ~~~~~ ¢ J642
& J86 E 5~~~4 &QJ3
5~~~4
» Q98743 3NE3 -400 Mean: 5CE-1 50 60 1 ||# 6 4 85 3NW4 -630 Mean: A 00 2
v JT92 3CE4 130 -180  4CE4 130 20 2 v AQ98 3NW4 -630 -640 3NW4 630 0.0 6
+ K3 Dif: -270 NS:-6 3HN-1 4100 20 1 + 853 Dif: 0 NS:0 3NW5 660 -1.0 1
%6 IMP: -7 EW:-2 3CE4 130 20 1 » KQ83 IMP: 0 EW:0 3NW6 690 20 1
& AK A 00 2 ||a AQ7 & K964
v 76 1NE4 180 00 1 ||w J65 — v K32
* AJ5 3NW4 430 6.0 1 ||e AKQJ4 .76
& KJ9732 3NE3 -400 -6.0 1 & A4 & JT72
aT oo VABN 4 JT32
v AK43 N ~~~~~ v T74
+» Q97642 S ~~~~~ ¢ T92
* QT E ~4~44 #2965
~5~45
» J764 2SS4 170 Mean: 4SS4 620 100 1 |[|# 8 # 65 4HS5 450 Mean: 4SXE-3 500 8.0 1
v A3 3SS3140 170 A 00 2 v AT96 4HN-1-50 170  4HS5 450 7.0 1
+ AK4 Dif: 30 NS:0 2SS4 170 0.0 1 ¢ J2 Dif: 500 NS:7 4HN5 450 7.0 1
& Q865 IMP: 1 EW:1 3SS3 140 1.0 3 & AKJ63 IMP: 11 EW:6 4HS4 420 6.0 1
a T5 3SN3 140 1.0 2 |[|a KJT8 a AQ432 A 00 2
+ v QT876 45S-1 100 -70 1 ||e3 v KQ8 4HS-1 50 6.0 1
¢ JT3 ¢ 984 ¢ 765 4HN-1 -50 6.0 2
S » AK9 a 97542 a T8 5HXN-2 300 -10.0 1
& KQ982 oo VAN 4,097
v 92 N ~33~2 »J7542
¢ Q972 S ~33~2 ¢ AKQT3
& 74 E~~~1~ aQ
~ o~ o~ 1 ~
sJ 4SE4 -620 Mean: A 0.0 2 |[|# 10 s Q7 5CN5 600 Mean: 4HS5 650 4.0 1
v QT9432 4SE4 -620 -620 4SE4 620 00 7 v 5CN5 600 520 3NS4 630 3.0 1
¢ J4 Dif: 0 NS:0 4SE5 650 -1.0 1 + A75 Dif: 0 NS:2 5CN5 600 20 5
& A975 IMP: 0 EW:0 & KJT97432 IMP: 0 EW:-2 A 00 2
& AQT842 & T963 # J852 6CN-1 100 120 1
vJ v 95 _I_ v AT632
¢ Q5 * K62 ¢ 983
» K632 » Q865 & A
4 953 e VAN 4 AK4
v K8 N 555~ 3 » KQJ874
o AT98762 S 555~3 ¢ QJT4
*J E ~~~~~ *
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NS: $J2:3% BREFE(BEO) -3 7 NS: 2R3 5R{ZRA(EAC) -23 15.97 : 4.03 Total VP: 34.81 Rank:
EW: #iE T SEBEEIC) 23 EW: 17K EHE(BO) 3 IMP:| 27 : 7 7
. o
» AQ6 3CXE-1 100 Mean: 5DXW-3 500 11.0 1 [[# 2 s Q42 1SE1 -80 Mean: 1NXE-1 100 50 1
v Q84 4CXE-2300 © 4CXE-2 300 7.0 1 v 865 INW3 -150 -80 A 00 2
¢ J3 Dif: -200 NS:3 4CE-2 100 3.0 1 + K54 Dif: 70 NS:0 1SE1 -80 00 1
& AK932 IMP: -5 EW:-7 3CXE-1 100 3.0 1 & AJT8 IMP: 2 EW:2 1NW1 90 00 1
D) A 00 2 ||s AKB3 # J85 1NE1 9 00 3
v A 4HN-3 150  -40 2 ||w AJ42 I v 97 1NW3 150 20 1
¢ 18542 4HXS-2 300 <70 1 ||e T7 + AQ863 1NW4 180 -3.0 1
» QJT8765 3CXE3 -470 100 1 & 97 » 653
# J873 oo VABN o T97
v KJ753 N ~~~~~ v KQT3
¢ Q97 S ~~~~~ ¢ J92
&4 E ~2~21 &KQ2
~2~21
a KJT 3NW4 -630 Mean: 2HE5 200 80 1 ||# 4 a J82 3NW4 -630 Mean: A 00 2
v T873 3NW3 -600 -560 A 00 2 v Q9872 3NE4 -630 -630 5CE6 620 0.0 1
+ A96 Dif: -30 NS:-2 3NW3 600 1.0 1 ¢ Q87 Dif: 0 NS:0 4NW4 630 0.0 1
& 932 IMP: -1 EW:1 3NE3 600 1.0 1 & T6 IMP: 0 EW:0 3NW4 630 0.0 3
a 93 4HE4 620 -20 2 ||a6 a AKQ74 3NE4 630 0.0 1
v AK542 3NW4 630 -20 3 ||e KJT64 _|_ v5 3NW5 660 -1.0 1
¢ K ¢ AT53 * K9 3NE5 660 -1.0 1
» AQT74 » K95 a AB742
a Q54 oo VAN 4 T953
v J6 N ~~~~~ v A3
+ Q8753 S ~~~~~ ¢ J642
& J86 E 5~~~4 &QJ3
5~~~4
» Q98743 3HN-1-100 Mean: 5CE-1 50 60 1 ||# 6 4 85 3NW4 -630 Mean: A 00 2
v JT92 4CE4 -130 -180 4CE4 130 20 2 v AQ98 3NW4 -630 -640 3NW4 630 0.0 6
+ K3 Dif: 30 NS:2  3HN-1 4100 20 1 + 853 Dif: 0 NS:0 3NW5 660 -1.0 1
%6 IMP: 1 EW:-2 3CE4 130 20 1 » KQ83 IMP: 0 EW:0 3NW6 690 20 1
& AK A 00 2 ||a AQ7 & K964
v 76 1NE4 180 00 1 ||w J65 — v K32
* AJ5 3NW4 430 6.0 1 ||e AKQJ4 .76
& KJ9732 3NE3 -400 -6.0 1 & A4 & JT72
aT oo VABN 4 JT32
v AK43 N ~~~~~ v T74
+» Q97642 S ~~~~~ ¢ T92
* QT E ~4~44 #2965
~5~45
» J764 3SS3 140 Mean: 4SS4 620 100 1 |[|# 8 # 65 4HS-1-50 Mean: 4SXE-3 500 8.0 1
v A3 4SS-1-100 170 A 00 2 v AT96 5HXN-2 -300 170  4HS5 450 7.0 1
+ AK4 Dif: 240 NS:-1 2SS4 170 0.0 1 ¢ J2 Dif: 250 NS:-6 4HN5 450 7.0 1
& Q865 IMP: 6 EW:7 3SS3 140 1.0 3 & AKJ63 IMP: 6 EW:10 4HS4 420 6.0 1
a T5 3SN3 140 1.0 2 |[|a KJT8 a AQ432 A 00 2
+ v QT876 45S-1 100 -70 1 ||e3 v KQ8 4HS-1 50 6.0 1
¢ JT3 ¢ 984 ¢ 765 4HN-1 -50 6.0 2
S » AK9 a 97542 a T8 5HXN-2 300 -10.0 1
& KQ982 oo VAN 4,097
v 92 N ~33~2 »J7542
¢ Q972 S ~33~2 ¢ AKQT3
& 74 E~~~1~ aQ
~ o~ o~ 1 ~
sJ 4SE5 -650 Mean: A 0.0 2 |[|# 10 s Q7 5CN5 600 Mean: 4HS5 650 4.0 1
v QT9432 4SE4 -620 -620 4SE4 620 00 7 v 6CN-1-100 520 3NS4 630 3.0 1
¢ J4 Dif: -30 NS:-1 4SE5 650 -1.0 1 + A75 Dif: 700 NS:2 5CN5 600 20 5
& A975 IMP: -1 EW:0 & KJT97432 IMP: 12 EW:12 A 00 2
& AQT842 & T963 # J852 6CN-1 100 120 1
vJ v 95 _I_ v AT632
¢ Q5 * K62 ¢ 983
» K632 » Q865 & A
4 953 e VAN 4 AK4
v K8 N 555~ 3 » KQJ874
o AT98762 S 555~3 ¢ QJT4
*J E ~~~~~ *
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NS: #5140 BREFEGHO) -7 9 NS: #IEF] 58 R(BAC) 2 6.86 13.14| Total VP: 42.84 Rank:
EW: 238 EHEEAC) -2 EW: [R<FR BRiEFR(BIO) 7 IMP:} 11 : 20 4
.
» AQ6 4HXS-2 -300 Mean: 5DXW-3 500 11.0 1 [[# 2 s Q42 1NW4 -180 Mean: 1NXE-1 100 50 1
v Q84 4HN-3-150 0 4CXE-2 300 7.0 1 v 865 1NW1-90 -80 A 00 2
¢ J3 Dif: -150 NS:-7 4CE-2 100 3.0 1 + K54 Dif: -90 NsS:-3 1SE1 -80 00 1
& AK932 IMP: -4 EW:4 3CXE-1 100 3.0 1 & AJT8 IMP: -3 EW:0 1NW1 90 00 1
D) A 00 2 ||s AKB3 # J85 1NE1 9 00 3
v A 4HN-3 150  -40 2 ||w AJ42 I v 97 1NW3 150 20 1
¢ 18542 4HXS-2 300 <70 1 ||e T7 + AQ863 1NW4 180 -3.0 1
» QJT8765 3CXE3 -470 100 1 & 97 » 653
# J873 oo VABN o T97
v KJ753 N ~~~~~ v KQT3
¢ Q97 S ~~~~~ ¢ J92
w4 E ~2~21 &KQ2
~2~21
a KJT 2HE5 -200 Mean: 2HES 200 80 1 ||# 4 a J82 3NE5 -660 Mean: A 00 2
v T873 4HE4 -620 -560 A 00 2 v Q9872 3NW4 -630 -630 5CE6 620 0.0 1
+ A96 Dif: 420 NS:8 3NW3 600 1.0 1 ¢ Q87 Dif: -30 NS:-1  4NW4 630 0.0 1
& 932 IMP: 9 EW:2 3NE3 600 1.0 1 & T6 IMP: -1 EW:0 3NW4 630 0.0 3
a 93 4HE4 620 -20 2 ||a6 a AKQ74 3NE4 630 0.0 1
v AK542 3NW4 630 -20 3 ||e KJT64 _|_ v5 3NW5 660 -1.0 1
¢ K ¢ AT53 * K9 3NE5 660 -1.0 1
» AQT74 » K95 a AB742
a Q54 oo VAN 4 T953
v J6 N ~~~~~ v A3
+ Q8753 S ~~~~~ ¢ J642
& J86 E 5~~~4 &QJ3
5~~~4
» Q98743 4CE4 -130 Mean: 5CE-1 50 60 1 ||# 6 4 85 3NW5 -660 Mean: A 00 2
v JT92 1NE4 -180 -180 4CE4 130 20 2 v AQ98 3NW4 -630 -640 3NW4 630 0.0 6
+ K3 Dif: 50 NS:2 3HN-1 4100 20 1 + 853 Dif: -30 NS:-1  3NW5 660 -1.0 1
%6 IMP: 2 EW:0 3CE4 130 20 1 » KQ83 IMP: -1 EW:0 3NW6 690 20 1
& AK A 00 2 ||a AQ7 & K964
v 76 1NE4 180 00 1 ||w J65 — v K32
* AJ5 3NW4 430 6.0 1 ||e AKQJ4 .76
& KJ9732 3NE3 -400 -6.0 1 & A4 & JT72
aT oo VABN 4 JT32
v AK43 N ~~~~~ v T74
+» Q97642 S ~~~~~ ¢ T92
* QT E ~4~44 #2965
~5~45
» J764 3SN3 140 Mean: 4SS4 620 100 1 |[|# 8 # 65 4HN-1 -50 Mean: 4SXE-3 500 8.0 1
v A3 3SN3140 170 A 00 2 v AT96 4HN5 450 170  4HS5 450 7.0 1
+ AK4 Dif: 0 NS:-1 2SS4 170 0.0 1 ¢ J2 Dif: -500 NS:-6 4HN5 450 7.0 1
& Q865 IMP: 0 EW:1 3SS3 140 1.0 3 & AKJ63 IMP: -11 EW:-7 4HS4 420 6.0 1
a T5 3SN3 140 1.0 2 |[|a KJT8 a AQ432 A 00 2
+ v QT876 45S-1 100 -70 1 ||e3 v KQ8 4HS-1 50 6.0 1
¢ JT3 ¢ 984 ¢ 765 4HN-1 -50 6.0 2
S » AK9 a 97542 a T8 5HXN-2 300 -10.0 1
& KQ982 oo VAN 4,097
v 92 N ~33~2 »J7542
¢ Q972 S ~33~2 ¢ AKQT3
& 74 E~~~1~ aQ
~ o~ o~ 1 ~
sJ 4SE4 -620 Mean: A 0.0 2 |[|# 10 s Q7 5CN5 600 Mean: 4HS5 650 4.0 1
v QT9432 4SE4 -620 -620 4SE4 620 00 7 v 5CN5 600 520 3NS4 630 3.0 1
¢ J4 Dif: 0 NS:0 4SE5 650 -1.0 1 + A75 Dif: 0 NS:2 5CN5 600 20 5
& A975 IMP: 0 EW:0 & KJT97432 IMP: 0 EW:-2 A 00 2
& AQT842 & T963 # J852 6CN-1 100 120 1
vJ v 95 _I_ v AT632
¢ Q5 * K62 ¢ 983
» K632 » Q865 & A
4 953 e VAN 4 AK4
v K8 N 555~ 3 » KQJ874
o AT98762 S 555~3 ¢ QJT4
*J E ~~~~~ *




v 2 —_—
4 111& *Eiﬁli}%’ﬁm%%,ﬁ fé% => R4 4
4 NS: FHE S &JW@(EEJO) 34 8 NS: ﬁEﬁiiS‘( #M*(EﬁC)Q | P:| 16.18 : 3.82 Total VP: 39.02 Rank:
EW: ZIE=2 B2 %EEAC) -9 EW: Ri55 BEE(BAO) -3| IMP:| 31 10 5
. — . -
#1 » AQ6 4CE-2100 Mean: 5DXW-3 500 11.0 1 [[# 2 s Q42 1NXE-1 100 Mean: 1NXE-1 100 50 1
v Q84 5DXW-3500 0 4CXE-2 300 70 1 v 865 1NE1-90 -80 A 00 2
¢ J3 Dif: -400 NS:3 4CE-2 100 3.0 1 + K54 Dif: 190 NS:5 1SE1 -80 00 1
& AK932 IMP: -9 EW:-11 3CXE-1 100 3.0 1 & AJT8 IMP: 5 EW:0 1NW1 90 00 1
& KT9542 'y A 00 2 ||s AKB3 # J85 1NE1 9 00 3
v T962 v A 4HN-3 150  -40 2 ||w AJ42 I v 97 1NW3 150 20 1
¢ AK6 ¢ 18542 4HXS-2 300 7.0 1 ||eT7 + AQ863 1NW4 180 -3.0 1
L) » QJT8765 3CXE3 470  -10.0 1 | |& 97 #» 653
oo VAN 4873 oo VABN o T97
N ~~212 ¢KJ753 N ~~~~~ v KQT3
S ~~312 ¢Q97 S ~~~~~ ¢ J92
E 22~~~ a4 E ~2~21 &KQ2
W 22~~~ ~2~21
# 3 a KJT 3NE3 -600 Mean: 2HE5 200 80 1 ||# 4 a J82 3NW5 -660 Mean: A 00 2
v T873 3NW4 -630 -560 A 00 2 v Q9872 3NW4 -630 -630 5CE6 620 0.0 1
+ A96 Dif: 30 NS:-1  3NW3 600 1.0 1 ¢ Q87 Dif: -30 NS:-1  4NW4 630 0.0 1
& 932 IMP: 1 EW:2 3NE3 600 1.0 1 & T6 IMP: -1 EW:0 3NW4 630 0.0 3
& A8762 a 93 4HE4 620 -20 2 ||a6 a AKQ74 3NE4 630 0.0 1
v Q9 v AK542 3NW4 630 -20 3 ||e KJT64 + v5 3NW5 660 -1.0 1
¢ JT42 ¢ K ¢ AT53 ¢ K9 3NES 660 -1.0 1
& K5 » AQT74 » K95 a A8742
P OeVAN ,Q¥4 oo VAN 4 T953
N ~~~~~ v J6 N ~~~~~ v A3
S ~~~~~ + Q8753 S ~~~~~ ¢ J642
E 5~433 &J86 E 5~~~4 &QJ3
W 5 ~433 5~~~4
#5 » Q98743 5CE-1 50 Mean: 5CE-1 50 60 1 ||# 6 4 85 3NW4 -630 Mean: A 00 2
v JT92 3NW4 -430 -180 4CE4 130 20 2 v AQ98 3NW6 -690 -640 3NW4 630 0.0 6
+ K3 Dif: 480 NS:6  3HN-1 4100 20 1 + 853 Dif: 60 NS:0 3NW5 660 -1.0 1
%6 IMP: 10 EW:6 3CE4 130 20 1 » KQ83 IMP: 2 EW:2 3NW6 690 20 1
4 J652 & AK A 00 2 ||a AQ7 & K964
v Q85 v 76 1NE4 -180 0.0 1 v J65 — v K32
¢ T8 ¢ AJ5 3NW4 430 6.0 1 ||e AKQJ4 .76
& A854 & KJ9732 3NE3 -400 -6.0 1 & A4 & JT72
FOVABN BT oo VABN 4 JT32
N ~231~ vAK43 N ~~~~~ v T74
S ~ 231~ ¢Q97642 S ~~~~~ ¢ T92
E 4~~~4 &QT E ~4~44 495
W 4 ~~~14 ~5~45
#7 » J764 4S5S4 620 Mean: 4SS4 620 100 1 ||# 8 # 65 4SXE-3 500 Mean: 4SXE-3 500 8.0 1
v A3 3SS3140 170 A 00 2 v AT96 4HS4 420 170  4HS5 450 7.0 1
+ AK4 Dif: 480 NS:10 2SS4 170 0.0 1 ¢ J2 Dif: 80 NS:8 4HN5 450 7.0 1
& Q865 IMP: 10 EW:1 3SS3 140 1.0 3 & AKJ63 IMP: 2 EW:-6 4HS4 420 6.0 1
s A3 a T5 3SN3 140 1.0 2 |[|a KJT8 a AQ432 A 00 2
v KJ54 + v QT876 4SS-1 100 70 1||e3 v KQ8 4HS-1 50 6.0 1
+ 865 ¢ JT3 ¢ 984 ¢ 765 4HN-1 -50 6.0 2
& JT32 S » AK9 a 97542 » T8 5HXN-2  -300 -10.0 1
% ¢ VBN 4, KQ982 oo VAN 4,097
N ~3~3~ 992 N ~33~2 »J7542
S ~3~3~ ¢Q972 S ~33~2 ¢ AKQT3
E1~2~~ a74 E~~~1~ aQ
W 1 ~2~~ ~~~1~
#9 sJ 4SE4 -620 Mean: A 0.0 2 |[|# 10 s Q7 4HS5 650 Mean: 4HS5 650 4.0 1
v QT9432 4SE4 -620 -620 4SE4 620 00 7 v 3NS4 630 520 3NS4 630 3.0 1
¢ J4 Dif: 0 NS:0 4SE5 650 -1.0 1 + A75 Dif: 20 NS:4 5CN5 600 20 5
& A975 IMP: 0 EW:0 & KJT97432 IMP:1 EW:-3 A 00 2
K76 & AQT842 & T963 # J852 6CN-1 100 120 1
v A765 vJ v 95 _I_ v AT632
* K3 ¢ Q5 * K62 * 983
& QT84 » K632 » Q865 & A
P ¢ VABN 4953 ¢ VBN 4, AK4
N ~22~~ 9K8 N 555~ 3 » KQJ874
S ~ 22~ ~ ¢AT98762 S 555~3 ¢ QJT4
E 3~~41 &J E ~~~~~ &
W 3 ~~41 W ~~~~~




v 2 —_—
4 111& *Eiﬁli}%’ﬁm%%,ﬁ fé% => R4 4
5 NS: iz %fg?ﬁ(]%ﬁC) -9 1 NS: ié,ﬁf )}ﬁiirﬁfE(EﬁO) -9 P:| 11.14 : 8.86 Total VP: 4711 Rank:
EW: {528 ZiFRSRBE0) 9 EW: §E{_# MEFR(BAC) 9 IMP:| 15 12 2
. ey . -
#1 » AQ6 3CXE3 470 Mean: 5DXW-3 500 11.0 1 [[# 2 s Q42 1NE1 90 Mean: 1NXE-1 100 50 1
v Q84 4HN-3150 0 4CXE-2 300 7.0 1 v 865 INE190 -80 A 00 2
¢ J3 Dif: 320 NS:-4 4CE-2 100 3.0 1 + K54 Dif: 0 NS:0 1SE1 -80 00 1
& AK932 IMP: 8 EW:10 3CXE-1 100 3.0 1 & AJT8 IMP: 0 EW:0 1NW1 90 00 1
& KT9542 'y A 00 2 ||s AKB3 # J85 1NE1 9 00 3
v T962 v A 4HN-3 150  -40 2 ||w AJ42 I v 97 1NW3 150 20 1
¢ AK6 ¢ 18542 4HXS-2 300 7.0 1 ||eT7 + AQ863 1NW4 180 -3.0 1
L) » QJT8765 3CXE3 470  -10.0 1 | |& 97 #» 653
oo VAN 4873 oo VABN o T97
N ~~212 ¢ KJ753 N ~~~~~ v KQT3
S ~~312 +Q97 S ~~~~~ * J92
E 22~~~ a4 E ~2~21 &KQ2
W 22~~~ ~2~21
# 3 a KJT 4HE4 620 Mean: 2HE5 200 80 1 ||# 4 a J82 4NW4 630 Mean: A 00 2
v T873 3NW4 630 -560 A 00 2 v Q9872 5CE6 620 -630 5CE6 620 0.0 1
+ A96 Dif: -10 NS:-2 3NW3 600 1.0 1 ¢ Q87 Dif: 10 NS:0 4Nw4 630 0.0 1
& 932 IMP: 0 EW:2 3NE3 600 -1.0 1 & T6 IMP: 0 EW:0 3NW4 630 0.0 3
& A8762 a 93 4HE4 620 -20 2 ||a6 a AKQ74 3NE4 630 0.0 1
v Q9 v AK542 3NW4 630 -20 3 ||e KJT64 + v5 3NW5 660 -1.0 1
¢ JT42 ¢ K ¢ AT53 ¢ K9 3NES 660 -1.0 1
& K5 » AQT74 » K95 a A8742
P OeVAN ,Q¥4 oo VAN 4 T953
N ~~~~~ v J6 N ~~~~~ v A3
S ~~~~~ + Q8753 S ~~~~~ ¢ J642
E 5~433 &J86 E 5~~~4 &QJ3
W 5~433 5~ ~~4
#5 » Q98743 3NE3 400 Mean: 5CE-1 50 60 1 ||# 6 4 85 3NW4 630 Mean: A 00 2
v JT92 3CE4130 -180 4CE4 130 20 2 v AQ98 3NW4 630 -640 3NW4 630 0.0 6
+ K3 Dif: 270 NS:2  3HN-1 4100 20 1 + 853 Dif: 0 NS:0 3NW5 660 -1.0 1
%6 IMP: 7 EW:6 3CE4 130 20 1 » KQ83 IMP: 0 EW:0 3NW6 690 20 1
4 J652 & AK A 00 2 ||a AQ7 & K964
v Q85 v 76 1NE4 -180 0.0 1 v J65 — v K32
¢ T8 ¢ AJ5 3NW4 430 6.0 1 ||e AKQJ4 .76
& A854 & KJ9732 3NE3 -400 -6.0 1 & A4 & JT72
FOVABN BT oo VABN 4 JT32
N ~231~ vAKA43 N ~~~~~ v T74
S ~231~ ¢Q97642 S ~~~~~ o T92
E 4~~~4 &QT E ~4~44 495
W 4 ~~~14 ~5~45
#7 » J764 2SS4 -170 Mean: 4SS4 620 100 1 ||# 8 # 65 4HS5 -450 Mean: 4SXE-3 500 80 1
v A3 3SS3-140 170 A 00 2 v AT96 4HN-150 170  4HS5 450 7.0 1
+ AK4 Dif: -30 NS:-1 2SS4 170 0.0 1 ¢ J2 Dif: -500 NS:-6 4HN5 450 7.0 1
& Q865 IMP: -1 EW:0 3SS3 140 1.0 3 & AKJ63 IMP: -11 EW:-7 4HS4 420 6.0 1
s A3 a T5 3SN3 140 1.0 2 |[|a KJT8 a AQ432 A 00 2
v KJ54 + v QT876 4SS-1 100 70 1||e3 v KQ8 4HS-1 50 6.0 1
+ 865 ¢ JT3 ¢ 984 ¢ 765 4HN-1 -50 6.0 2
& JT32 S » AK9 a 97542 » T8 5HXN-2  -300 -10.0 1
% ¢ VBN 4, KQ982 oo VAN 4,097
N ~3~3~ 992 N ~33~2 »J7542
S ~3~3~ ¢Q972 S ~33~2 ¢ AKQT3
E1~2~~ a74 E~~~1~ aQ
W 1 ~2~~ ~~~1~
#9 sJ 4SE4 620 Mean: A 0.0 2 |[|# 10 s Q7 5CN5 -600 Mean: 4HS5 650 4.0 1
v QT9432 4SE4 620 -620 4SE4 620 00 7 v 5CN5-600 520 3NS4 630 3.0 1
¢ J4 Dif: 0 NS:0 4SE5 650 -1.0 1 + A75 Dif: 0 NS:2 5CN5 600 20 5
& A975 IMP: 0 EW:0 & KJT97432 IMP: 0 EW:-2 A 00 2
K76 & AQT842 & T963 # J852 6CN-1 100 120 1
v A765 vJ v 95 _I_ v AT632
* K3 ¢ Q5 * K62 * 983
& QT84 » K632 » Q865 & A
P ¢ VABN 4953 ¢ VBN 4, AK4
N ~22~~ 9K8 N 555~ 3 » KQJ874
S ~ 22~ ~ ¢AT98762 S 555~3 ¢ QJT4
E 3~~41 &J E ~~~~~ &
W 3 ~~41 W ~~~~~
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6 NS: (B80) 0 10 NS: (F:ﬁC)o P:| 10.00 : 10.00| Total VP: 51.46 Rank:
EW: (BEC)0 EW: (Bd0)0 IMP:| 0 0 1
. .
#1 » AQ6 Mean: 5DXW-3 500 11.0 1 [[|# 2 a Q42 Mean: 1NXE-1 100 50 1
v Q84 0 4CXE-2 300 7.0 1 v 865 80 A 00 2
¢ J3 Dif: NS:0 4CE-2 100 3.0 1 o K54 Dif: NS:0 1SE1 80 00 1
& AK932 IMP: EW:0 3CXE-1 100 3.0 1 & AJT8 IMP: EW:0 1NW1 90 00 1
& KT9542 'y A 00 2 ||s AKB3 # J85 1NE1 9 00 3
v T962 v A 4HN-3 150 -40 2 || AJ42 I v 97 1NW3 150 20 1
¢ AK6 ¢ 18542 4HXS-2 300 7.0 1 ||eT7 + AQ863 1NW4 180 -3.0 1
L) » QJT8765 3CXE3 470  -10.0 1 | |& 97 #» 653
oo VAN 4873 oo VABN o T97
N ~~212 ¢ KJ753 N ~~~~ ~ v KQT3
S ~~312 +Q97 S ~~~~~ * J92
E 22~~~ a4 E ~2~21 &KQ2
W 22~~~ ~2~21
# 3 a KJT Mean: 2HE5 200 80 1 ||# 4 a J82 Mean: A 00 2
v T873 560 A 00 2 v Q9872 -630 5CE6 620 0.0 1
+ A96 Dif: NS:0 3NW3 600 1.0 1 ¢ Q87 Dif: NS:0 4NW4 630 0.0 1
& 932 IMP: EW:0 3NE3 600 1.0 1 & T6 IMP: EW:0 3NW4 630 0.0 3
& A8762 a 93 4HE4 620 -20 2 ||a6 a AKQ74 3NE4 630 0.0 1
v Q9 v AK542 3NW4 630 -20 3 ||e KJT64 + v5 3NW5 660 -1.0 1
¢ JT42 ¢ K ¢ AT53 ¢ K9 3NES 660 -1.0 1
& K5 » AQT74 » K95 a A8742
P OeVAN ,Q¥4 oo VAN 4 T953
N ~~~~~ v J6 N ~~~~~ v A3
S ~~~~~ + Q8753 S ~~~~~ ¢ J642
E 5~433 &J86 E 5~~~4 &QJ3
W 5 ~433 5~~~4
#5 & Q98743 Mean: 5CE-1 50 60 1 |[|# 6 4 85 Mean: A 00 2
v JT92 180  4CE4 130 20 2 v AQ98 640  3NW4 630 0.0 6
* K3 Dif: NS:0 3HN-1 4100 20 1 o 853 Dif: NS:0 3NW5 660 -1.0 1
%6 IMP: EW:0 3CE4 130 20 1 » KQ83 IMP: EW:0 3NW6 690 20 1
4 J652 & AK A 00 2 ||a AQ7 & K964
v Q85 v 76 1NE4 180 00 1 ||w J65 — v K32
¢ T8 ¢ AJ5 3NW4 430 6.0 1 ||e AKQJ4 .76
& A854 & KJ9732 3NE3 -400 -6.0 1 & A4 & JT72
FOVABN BT oo VABN 4 JT32
N ~231~ vAK43 N ~~~~~ v T74
S ~23 1~ ¢Q97642 S ~~~~~ ¢ T92
E 4~~~4 &QT E ~4~44 495
W 4 ~~~14 ~5~45
#7 » J764 Mean: 4SS4 620 100 1 ||# 8 # 65 Mean: 4SXE-3 500 80 1
v A3 170 A 00 2 v AT96 170  4HS5 450 7.0 1
+ AK4 Dif: NS:0 2SS4 170 0.0 1 ¢ J2 Dif: NS:0 4HN5 450 7.0 1
& Q865 IMP: EW:0 3SS3 140 1.0 3 & AKJ63 IMP: EW:0 4HS4 420 6.0 1
s A3 a T5 3SN3 140 1.0 2 |[|a KJT8 a AQ432 A 00 2
v KJ54 + v QT876 4SS-1 100 70 1||e3 v KQ8 4HS-1 50 6.0 1
+ 865 ¢ JT3 ¢ 984 ¢ 765 4HN-1 -50 6.0 2
& JT32 S » AK9 a 97542 » T8 5HXN-2  -300 -10.0 1
% ¢ VBN 4, KQ982 oo VAN 4,097
N ~3~3~ 992 N ~33~2 »J7542
S ~3~3~ ¢Q972 S ~33~2 ¢ AKQT3
E1~2~~ a74 E~~~1~ aQ
W 1 ~2~~ ~~~1~
#9 sJ Mean: A 00 2 ||# 10 s Q7 Mean: 4HS5 650 40 1
v QT9432 620  4SE4 620 00 7 v 520 3NS4 630 3.0 1
¢ J4 Dif: NS:0 4SE5 650 1.0 1 ¢ A75 Dif: NS:0 5CN5 600 20 5
& A975 IMP: EW:0 & KJT97432 IMP: EW:0 A 00 2
K76 & AQT842 & T963 # J852 6CN-1 100 120 1
v A765 vJ v 95 _I_ v AT632
* K3 ¢ Q5 * K62 * 983
& QT84 » K632 » Q865 & A
P ¢ VABN 4953 ¢ VBN 4, AK4
N ~22~~ 9K8 N 555~ 3 » KQJ874
S ~ 22~ ~ ¢AT98762 S 555~3 ¢ QJT4
E 3~~41 &J E ~~~~~ &
W 3 ~~41 W ~~~~~
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7 NS: ZHHE B’E@Eﬂ(ﬁﬁC) -23 2 %J&.i lﬁr@la(ﬁﬁO) -3 P:| 4.03 : 15.97| Total VP: 36.99 Rank:
EW: EEyJ,m ERZEEO) 3 EW: &igT REBI(BAC) 23 IMP:| 7 27 6
- . —
#1 AAQG 3CXE-1-100 Mean: 5DXW-3 500 11.0 1 [[# 2 s Q42 1SE1 80 Mean: 1NXE-1 100 50 1
v Q84 4CXE-2-300 0 4CXE-2 300 70 1 v 865 1NW3 150 -80 A 00 2
¢ J3 Dif: 200 NS:7 4CE-2 100 3.0 1 + K54 Dif: -70 NS:-2 1SE1 -80 00 1
& AK932 IMP: 5 EW:-3 3CXE-1 100 3.0 1 & AJT8 IMP: -2 EW:0 1NW1 90 00 1
& KT9542 'y A 00 2 ||s AKB3 # J85 1NE1 9 00 3
v T962 v A 4HN-3 150 -40 2 || AJ42 I v 97 1NW3 150 20 1
¢ AK6 ¢ 18542 4HXS-2 300 7.0 1 ||eT7 + AQ863 1NW4 180 -3.0 1
L) » QJT8765 3CXE3 470  -10.0 1 | |& 97 #» 653
oo VAN 4873 oo VABN o T97
N ~~212 ¢ KJ753 N ~~~~~ v KQT3
S ~~312 +Q97 S ~~~~~ * J92
E 22~~~ a4 E ~2~21 &KQ2
W 22~~~ ~2~21
# 3 a KJT 3NW4 630 Mean: 2HE5 200 80 1 ||# 4 a J82 3NW4 630 Mean: A 00 2
v T873 3NW3 600 -560 A 00 2 v Q9872 3NE4 630 -630 5CE6 620 0.0 1
+ A96 Dif: 30 NS:-1  3NW3 600 1.0 1 ¢ Q87 Dif: 0 NS:0 4NW4 630 0.0 1
& 932 IMP: 1 EW:2 3NE3 600 -1.0 1 & T6 IMP: 0 EW:0 3NW4 630 0.0 3
& A8762 a 93 4HE4 620 -20 2 ||a6 a AKQ74 3NE4 630 0.0 1
v Q9 v AK542 3NW4 630 -20 3 ||e KJT64 + v5 3NW5 660 -1.0 1
¢ JT42 ¢ K ¢ AT53 ¢ K9 3NES 660 -1.0 1
& K5 » AQT74 » K95 a A8742
P OeVAN ,Q¥4 oo VAN 4 T953
N ~~~~~ v J6 N ~~~~~ v A3
S ~~~~~ + Q8753 S ~~~~~ ¢ J642
E 5~433 &J86 E 5~~~4 &QJ3
W 5~433 5~ ~~4
#5 » Q98743 3HN-1 100 Mean: 5CE-1 50 60 1 ||# 6 4 85 3NW4 630 Mean: A 00 2
v JT92 4CE4 130 -180 4CE4 130 20 2 v AQ98 3NW4 630 -640 3NW4 630 0.0 6
+ K3 Dif: -30 NS:2  3HN-1 4100 20 1 + 853 Dif: 0 NS:0 3NW5 660 -1.0 1
%6 IMP: -1 EW:-2 3CE4 130 20 1 » KQ83 IMP: 0 EW:0 3NW6 690 20 1
4 J652 & AK A 00 2 ||a AQ7 & K964
v Q85 v 76 1NE4 -180 0.0 1 v J65 — v K32
¢ T8 ¢ AJ5 3NW4 430 6.0 1 ||e AKQJ4 .76
& A854 & KJ9732 3NE3 -400 -6.0 1 & A4 & JT72
FOVABN BT oo VABN 4 JT32
N ~2 31~ vAK43 N ~~~~~ v T74
S ~23 1~ ¢Q97642 S ~~~~~ ¢ T92
E 4~~~4 &QT E ~4~44 #0965
W 4 ~~~14 ~5~45
#7 » J764 3SS3 -140 Mean: 4SS4 620 100 1 ||# 8 # 65 4HS-1 50 Mean: 4SXE-3 500 80 1
v A3 4S8S-1100 170 A 00 2 v AT96 5HXN-2 300 170  4HS5 450 7.0 1
+ AK4 Dif: -240 NS:-7 2SS4 170 0.0 1 ¢ J2 Dif: -250 NS:-10 4HN5 450 7.0 1
& Q865 IMP: -6 EW:1 3SS3 140 1.0 3 & AKJ63 IMP: -6 EW:6 4HS4 420 6.0 1
s A3 a T5 3SN3 140 1.0 2 |[|a KJT8 a AQ432 A 00 2
v KJ54 + v QT876 4SS-1 100 70 1||e3 v KQ8 4HS-1 50 6.0 1
+ 865 ¢ JT3 ¢ 984 ¢ 765 4HN-1 -50 6.0 2
& JT32 S » AK9 a 97542 » T8 5HXN-2  -300 -10.0 1
% ¢ VBN 4, KQ982 oo VAN 4,097
N ~3~3~ 992 N ~33~2 »J7542
S ~3~3~ ¢Q972 S ~33~2 ¢ AKQT3
E1~2~~ a74 E~~~1~ aQ
W 1 ~2~~ ~~~1~
#9 sJ 4SE5 650 Mean: A 0.0 2 |[|# 10 s Q7 5CN5 -600 Mean: 4HS5 650 4.0 1
v QT9432 4SE4 620 -620 4SE4 620 00 7 v 6CN-1100 520 3NS4 630 3.0 1
¢ J4 Dif: 30 NS:0 4SE5 650 -1.0 1 + A75 Dif: -700 NS:-12 5CN5 600 20 5
& A975 IMP: 1 EW:1 & KJT97432 IMP: -12 EW:-2 A 00 2
K76 & AQT842 & T963 # J852 6CN-1 100 120 1
v A765 vJ v 95 _I_ v AT632
* K3 ¢ Q5 * K62 * 983
& QT84 » K632 » Q865 & A
P ¢ VABN 4953 ¢ VBN 4, AK4
N ~22~~ 9K8 N 555~ 3 » KQJ874
S ~ 22~ ~ ¢AT98762 S 555~3 ¢ QJT4
E 3~~41 &J E ~~~~~ &
W 3 ~~41 W ~~~~~
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8 NS: BEtH&r ;ﬁ%(]%ﬁ@ 9 4 NS: ﬁnzxﬁ gl ﬂﬁléli(ﬁﬁo) 34 P:| 3.82 : 16.18| Total VP: 34.02 Rank:
EW: B SEEREH0) -34 EW: 8lf5& 5Ei5(BAC) -9 IMP:| 10 31 8
. — . -
#1 » AQ6 4CE-2 -100 Mean: 5DXW-3 500 11.0 1 [[# 2 s Q42 1NXE-1 -100 Mean: 1NXE-1 100 50 1
v Q84 5DXW-3 -500 0 4CXE-2 300 70 1 v 865 INE190 80 A 00 2
¢ J3 Dif: 400 NS:11 4CE-2 100 3.0 1 + K54 Dif: 190 NS:0 1SE1 -80 00 1
& AK932 IMP: 9 EW:-3 3CXE-1 100 3.0 1 & AJT8 IMP: -5 EW:-5 1NW1 90 00 1
& KT9542 » A 00 2 ||s AKB3 # J85 1NE1 9 00 3
v T962 v A 4HN-3 150 -40 2 || AJ42 I v 97 1NW3 150 20 1
¢ AK6 ¢ 18542 4HXS-2 300 7.0 1 ||eT7 + AQ863 1NW4 180 -3.0 1
L) » QJT8765 3CXE3 470  -10.0 1 | |& 97 #» 653
oo VAN 4873 oo VABN o T97
N ~~212 ¢KJ753 N ~~~~~ v KQT3
S ~~312 ¢Q97 S ~~~~~ ¢ J92
E 22~~~ a4 E ~2~21 &KQ2
W 22~~~ ~2~21
# 3 a KJT 3NE3 600 Mean: 2HE5 200 80 1 ||# 4 a J82 3NW5 660 Mean: A 00 2
v T873 3NW4 630 -560 A 00 2 v Q9872 3NW4 630 -630 5CE6 620 0.0 1
+ A96 Dif: -30 NS:-2 3NW3 600 1.0 1 ¢ Q87 Dif: 30 NS:0 4Nw4 630 0.0 1
& 932 IMP: -1 EW:1 3NE3 600 1.0 1 & T6 IMP: 1 EW:1 3NW4 630 0.0 3
& A8762 a 93 4HE4 620 -20 2 ||a6 a AKQ74 3NE4 630 0.0 1
v Q9 v AK542 3NW4 630 -20 3 ||e KJT64 + v5 3NW5 660 -1.0 1
¢ JT42 ¢ K ¢ AT53 ¢ K9 3NES 660 -1.0 1
& K5 » AQT74 » K95 a AB742
P OeVAN ,Q¥4 oo VAN 4 T953
N ~~~~~ v J6 N ~~~~~ v A3
S ~~~~~ + Q8753 S ~~~~~ ¢ J642
E 5~433 &J86 E 5~~~4 &QJ3
W 5~433 5~ ~~4
#5 » Q98743 5CE-1-50 Mean: 5CE-1 50 60 1 ||# 6 4 85 3NW4 630 Mean: A 00 2
v JT92 3NW4 430 -180 4CE4 130 20 2 v AQ98 3NW6 690 -640 3NW4 630 0.0 6
+ K3 Dif: -480 NS:-6 3HN-1 4100 20 1 + 853 Dif: -60 NS:-2 3NW5 660 -1.0 1
%6 IMP: -10 EW:-6 3CE4 130 20 1 » KQ83 IMP: -2 EW:0 3NW6 690 20 1
4 J652 & AK A 00 2 ||a AQ7 & K964
v Q85 v 76 1NE4 -180 0.0 1 v J65 — v K32
¢ T8 ¢ AJ5 3NW4 430 6.0 1 ||e AKQJ4 .76
& A854 & KJ9732 3NE3 -400 -6.0 1 & A4 & JT72
FOVABN BT oo VABN 4 JT32
N ~2 31~ vAK43 N ~~~~~ v T74
S ~23 1~ ¢Q97642 S ~~~~~ ¢ T92
E 4~~~4 &QT E ~4~44 #0965
W 4 ~~~14 ~5~45
#7 » J764 4S5S4 -620 Mean: 4SS4 620 100 1 |[|# 8 # 65 4SXE-3 -500 Mean: 4SXE-3 500 8.0 1
v A3 3SS3-140 170 A 00 2 v AT96 4HS4 -420 170  4HS5 450 7.0 1
+ AK4 Dif: -480 NsS:-1 2SS4 170 0.0 1 ¢ J2 Dif: -80 NS:6 4HN5 450 7.0 1
& Q865 IMP: -10 EW:-10 3SS3 140 1.0 3 & AKJ63 IMP: -2 EW:-8 4HS4 420 6.0 1
s A3 a T5 3SN3 140 1.0 2 |[|a KJT8 a AQ432 A 00 2
v KJ54 + v QT876 4SS-1 100 70 1||e3 v KQ8 4HS-1 50 6.0 1
+ 865 ¢ JT3 ¢ 984 ¢ 765 4HN-1 -50 6.0 2
& JT32 S » AK9 a 97542 » T8 5HXN-2  -300 -10.0 1
% ¢ VBN 4, KQ982 oo VAN 4,097
N ~3~3~ 992 N ~33~2 »J7542
S ~3~3~ ¢Q972 S ~33~2 ¢ AKQT3
E1~2~~ a74 E~~~1~ aQ
W 1 ~2~~ ~~~1~
#9 sJ 4SE4 620 Mean: A 0.0 2 |[|# 10 s Q7 4HS5 -650 Mean: 4HS5 650 4.0 1
v QT9432 4SE4 620 -620 4SE4 620 00 7 v 3NS4 -630 520 3NS4 630 3.0 1
¢ J4 Dif: 0 NS:0 4SE5 650 -1.0 1 + A75 Dif: 20 NS:3 5CN5 600 20 5
& A975 IMP: 0 EW:0 & KJT97432 IMP: -1 EW:-4 A 00 2
K76 & AQT842 & T963 # J852 6CN-1 100 120 1
v A765 vJ v 95 _I_ v AT632
* K3 ¢ Q5 * K62 * 983
& QT84 » K632 » Q865 & A
P ¢ VABN 4953 ¢ VBN 4, AK4
N ~22~~ 9K8 N 555~ 3 » KQJ874
S ~ 22~ ~ ¢AT98762 S 555~3 ¢ QJT4
E 3~~41 &J E ~~~~~ &
W 3 ~~41 W ~~~~~
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9 NS: FENER %Eff(ﬁﬁC) 2 3 NS: “-Fﬁ?ﬁ FiEéé(EﬁO) -7 P:| 13.14 : 6.86 Total VP: 45.43 Rank:
EW: BESF R BEEREE(BEO) 7 EW: 3BiEiE FEIR(BAC) -2 IMP:| 20 1 3
. .
#1 » AQ6 4HXS-2 300 Mean: 5DXW-3 500 11.0 1 [[# 2 s Q42 1NW4 180 Mean: 1NXE-1 100 50 1
v Q84 4HN-3150 0 4CXE-2 300 7.0 1 v 865 INW190 -80 A 00 2
¢ J3 Dif: 150 NS:-4 4CE-2 100 3.0 1 + K54 Dif: 90 NS:0 1SE1 -80 00 1
& AK932 IMP: 4 EW:7 3CXE-1 100 3.0 1 & AJT8 IMP: 3 EW:3 1NW1 90 00 1
& KT9542 'y A 00 2 ||s AKB3 # J85 1NE1 9 00 3
v T962 v A 4HN-3 150  -40 2 ||w AJ42 I v 97 1NW3 150 20 1
¢ AK6 ¢ 18542 4HXS-2 300 7.0 1 ||eT7 + AQ863 1NW4 180 -3.0 1
L) » QJT8765 3CXE3 470  -10.0 1 | |& 97 #» 653
oo VAN 4873 oo VABN o T97
N ~~212 ¢ KJ753 N ~~~~~ v KQT3
S ~~312 +Q97 S ~~~~~ * J92
E 22~~~ a4 E ~2~21 &KQ2
W 22~~~ ~2~21
# 3 a KJT 2HE5 200 Mean: 2HE5 200 80 1 ||# 4 a J82 3NE5 660 Mean: A 00 2
v T873 4HE4 620 -560 A 00 2 v Q9872 3NW4 630 -630 5CE6 620 0.0 1
+ A96 Dif: -420 NS:-2 3NW3 600 1.0 1 ¢ Q87 Dif: 30 NS:0 4Nw4 630 0.0 1
& 932 IMP: -9 EW:-8 3NE3 600 1.0 1 & T6 IMP: 1 EW:1 3NW4 630 0.0 3
& A8762 a 93 4HE4 620 -20 2 ||a6 a AKQ74 3NE4 630 0.0 1
v Q9 v AK542 3NW4 630 -20 3 ||e KJT64 + v5 3NW5 660 -1.0 1
¢ JT42 ¢ K ¢ AT53 ¢ K9 3NES 660 -1.0 1
& K5 » AQT74 » K95 a A8742
P OeVAN ,Q¥4 oo VAN 4 T953
N ~~~~~ v J6 N ~~~~~ v A3
S ~~~~~ + Q8753 S ~~~~~ ¢ J642
E 5~433 &J86 E 5~~~4 &QJ3
W 5~433 5~ ~~4
#5 » Q98743 4CE4 130 Mean: 5CE-1 50 60 1 ||# 6 4 85 3NW5 660 Mean: A 00 2
v JT92 1NE4 180 -180 4CE4 130 20 2 v AQ98 3NW4 630 -640 3NW4 630 0.0 6
+ K3 Dif: -50 NS:0 3HN-1 4100 20 1 + 853 Dif: 30 NS:0 3NW5 660 -1.0 1
%6 IMP: -2 EW:-2 3CE4 130 20 1 » KQ83 IMP: 1 EW:1 3NW6 690 20 1
4 J652 & AK A 00 2 ||a AQ7 & K964
v Q85 v 76 1NE4 -180 0.0 1 v J65 — v K32
¢ T8 ¢ AJ5 3NW4 430 6.0 1 ||e AKQJ4 .76
& A854 & KJ9732 3NE3 -400 -6.0 1 & A4 & JT72
FOVABN BT oo VABN 4 JT32
N ~231~ vAKA43 N ~~~~~ v T74
S ~231~ ¢Q97642 S ~~~~~ o T92
E 4~~~4 &QT E ~4~44 495
W 4 ~~~14 ~5~45
#7 » J764 3SN3 -140 Mean: 4SS4 620 100 1 ||# 8 # 65 4HN-1 50 Mean: 4SXE-3 500 80 1
v A3 3SN3-140 170 A 00 2 v AT96 4HN5 -450 170  4HS5 450 7.0 1
+ AK4 Dif: 0 NS:-1 2SS4 170 0.0 1 ¢ J2 Dif: 500 NS:7 4HN5 450 7.0 1
& Q865 IMP: 0 EW:1 3SS3 140 1.0 3 & AKJ63 IMP: 11 EW:6 4HS4 420 6.0 1
s A3 a T5 3SN3 140 1.0 2 |[|a KJT8 a AQ432 A 00 2
v KJ54 + v QT876 4SS-1 100 70 1||e3 v KQ8 4HS-1 50 6.0 1
+ 865 ¢ JT3 ¢ 984 ¢ 765 4HN-1 -50 6.0 2
& JT32 S » AK9 a 97542 » T8 5HXN-2  -300 -10.0 1
% ¢ VBN 4, KQ982 oo VAN 4,097
N ~3~3~ 992 N ~33~2 »J7542
S ~3~3~ ¢Q972 S ~33~2 ¢ AKQT3
E1~2~~ a74 E~~~1~ aQ
W 1 ~2~~ ~~~1~
#9 sJ 4SE4 620 Mean: A 0.0 2 |[|# 10 s Q7 5CN5 -600 Mean: 4HS5 650 4.0 1
v QT9432 4SE4 620 -620 4SE4 620 00 7 v 5CN5-600 520 3NS4 630 3.0 1
¢ J4 Dif: 0 NS:0 4SE5 650 -1.0 1 + A75 Dif: 0 NS:2 5CN5 600 20 5
& A975 IMP: 0 EW:0 & KJT97432 IMP: 0 EW:-2 A 00 2
K76 & AQT842 & T963 # J852 6CN-1 100 120 1
v A765 vJ v 95 _I_ v AT632
* K3 ¢ Q5 * K62 * 983
& QT84 » K632 » Q865 & A
P ¢ VABN 4953 ¢ VBN 4, AK4
N ~22~~ 9K8 N 555~ 3 » KQJ874
S ~ 22~ ~ ¢AT98762 S 555~3 ¢ QJT4
E 3~~41 &J E ~~~~~ &
W 3 ~~41 W ~~~~~
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1 O NS: (BC) 0 6 NS: (EﬁO)o P:| 10.00 : 10.00| Total VP: -50.00 Rank:
EW: (550)0 EW: (BiC) 0 IMP:| 0 0 10
. .
#1 » AQ6 A Mean: 5DXW-3 500 11.0 1 [[# 2 a Q42 A Mean: 1NXE-1 100 50 1
v Q84 A o0 4CXE-2 300 70 1 v 865 A 80 A 00 2
¢ J3 Dif: 0 NS:0 4CE-2 100 3.0 1 + K54 Dif: 0 NS:0 1SE1 -80 00 1
& AK932 IMP: 0 EW:0 3CXE-1 100 3.0 1 & AJT8 IMP: 0 EW:0 1NW1 90 00 1
& KT9542 'y A 00 2 ||s AKB3 # J85 1NE1 9 00 3
v T962 v A 4HN-3 150 -40 2 || AJ42 I v 97 1NW3 150 20 1
¢ AK6 ¢ 18542 4HXS-2 300 7.0 1 ||eT7 + AQ863 1NW4 180 -3.0 1
L) » QJT8765 3CXE3 470  -10.0 1 | |& 97 #» 653
oo VAN 4873 oo VABN o T97
N ~~212 ¢ KJ753 N ~~~~ ~ v KQT3
S ~~312 +Q97 S ~~~~~ * J92
E 22~~~ a4 E ~2~21 &KQ2
W 22~~~ ~2~21
# 3 a KJT A Mean: 2HE5 200 80 1 ||# 4 a J82 A Mean: A 00 2
v T873 A -560 A 00 2 v Q9872 A -630 5CE6 620 0.0 1
+ A96 Dif: 0 NS:0 3NW3 600 1.0 1 ¢ Q87 Dif: 0 NS:0 4NW4 630 0.0 1
& 932 IMP: 0 EW:0 3NE3 600 1.0 1 & T6 IMP: 0 EW:0 3NW4 630 0.0 3
& A8762 a 93 4HE4 620 -20 2 ||a6 a AKQ74 3NE4 630 0.0 1
v Q9 v AK542 3NW4 630 -20 3 ||e KJT64 + v5 3NW5 660 -1.0 1
¢ JT42 ¢ K ¢ AT53 ¢ K9 3NES 660 -1.0 1
& K5 » AQT74 » K95 a A8742
P OeVAN ,Q¥4 oo VAN 4 T953
N ~~~~~ v J6 N ~~~~~ v A3
S ~~~~~ + Q8753 S ~~~~~ ¢ J642
E 5~433 &J86 E 5~~~4 &QJ3
W 5~433 5~~~4
#5 » Q98743 A Mean: 5CE-1 50 60 1 ||# 6 4 85 A Mean: A 00 2
v JT92 A 180  4CE4 130 20 2 v AQ98 A -640 3NW4 630 0.0 6
+ K3 Dif: 0 NS:0 3HN-1 4100 20 1 + 853 Dif: 0 NS:0 3NW5 660 -1.0 1
%6 IMP: 0 EW:0 3CE4 130 20 1 » KQ83 IMP: 0 EW:0 3NW6 690 20 1
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